
CROCHET PATTERN

Frozen Flower
Shawl

Design: It Was Yarn - Kate Kosenko (Veselunka)| Hobbii Design
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MATERIALS
Portobello
2 skeins of color 04 (Cream)
2 skeins of color 105 (Emerald)
3 skeins of color 31 (Pumpkin)
3 skeins of color 85 (Sapphire)
3 skeins of color 113 (Misty Green)
4 skeins of color 88 (Turkish Blue)

Crochet hook 5 mm / US H8
Stitch markers
Scissors
Tape measuring

YARN QUALITY
Portobello, Hobbii

60 % Cotton, 28 % Acrylic, 12 % Wool
50 g / 1.75 oz = 120 m / 131 yds

GAUGE
14 sc x 17 rows = 10 cm x 10 cm / 4” x 4”
Measurement of Large Motif (from peak to
peak, non-blocked): 15 cm (6 in).

SIZE
One size

MEASUREMENTS
Width: 238 cm / 94”
Height: 125 cm / 50”

PATTERN INFORMATION
The pattern of this shawl includes 4 designs
of Large Motifs made in rounds. You can use
them all according to the pattern diagram
using the colors indicated or break up your
own scheme of combining designs and colors
for making something unique! Beginners can
keep things simple by choosing just 1 color
and 1 design (or 2 staggered). This shawl is
really fun to crochet! It requires some effort
to follow the original diagram, but the work
goes very quickly, especially thanks to the use
of simple stitches. Experiment and enjoy!

Stitches used: slip stitch, chain, single crochet,
spike single crochet, half double crochet,
double crochet, treble crochet, picot.

HASHTAGS FOR SOCIAL MEDIA
#hobbiidesign #hobbiifrozenflower

BUY THE YARN HERE
https://shop.hobbii.com/frozen-flower-shawl

QUESTIONS
If you have any questions regarding this pattern, please feel free to email us at
support@hobbii.com
Please make sure to include the pattern's name and number.

Happy Crafting!
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Pattern

ABBREVIATIONS
rnd = round
st (s) = stitch (es)
sp (s) = space (s)
ch = chain
sl st = slip stitch
sc = single crochet
spike sc = pull the loop up longer before finishing single crochet
hdc = half double crochet
dc = double crochet
tr = treble crochet
picot = ch3, sl st into a 3rd chain from hook
BLO = back loop only

INFO AND TIPS
Frozen flower shawl consists of Large (1, 2, 3 and Flower) and Small Motifs joined-as-you-go
in the last round and a border. All motifs joined together according to the diagram below.
You may find the diagram at the end of the pattern: it’s easy to print it.
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Numbers 1, 2, 3 and F in the circles correspond to Large Motifs. Colors of the circles
correspond to the colors of the yarn; small colorful dots are Small Motifs.

Please use the color chart to read the diagram:

col. 04

col. 105

col. 85

col. 113

col. 31

col. 88

SHAWL
Start crocheting with the Large Motifs. I recommend starting at the bottom peak and
crocheting Motif 1 in col. 113, Motif 2 in col. 31, Motif F in col. 85 and joining them in the last
round of Motif 3 in col. 05. Please read the Joining paragraph before starting the last round
of Motif 3.

Keep going, adding line by line on the top of the shawl: this way you can stop if you think
your shawl is already big enough. When all the Large Motifs are completed, move on to
crocheting the Small Motifs. After all the motifs are done, finish the work with the border.
Have fun!
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MOTIF 1

Magic ring and pull up a loop,
Rnd 1: Ch1 (does not count as a st), 8 sc into the ring, join with a sl st to 1st sc. (Total: 8 sc).
Rnd 2: Ch6 (counts as tr + ch2; place marker in the 4th chain), (2 tr in next sc, ch2)x7, tr in
next sc (that one where starting ch6 made), join with a sl st to 4th ch of starting ch6. (Total:
16 tr, 8 ch2-sps).
Rnd 3: Ch1 (does not count as a st), *(sc, picot, sc) in next ch2-sp, picot, sc around post of st
marked as 1 in a pic 1 (arrows show the direction of crocheting), picot, sc around same st, sc
around post of st marked as 2 (rotate work a bit to follow the arrows), picot, sc around same
st, picot* 8 times, drop the loop from the hook, insert hook from back to front into 1st sc and
pull through – pic 2. (Total: 48 sc, 40 picot).

Picture 1 Picture 2

Rnd 4: Turn the work wrong side facing you. Sl st in next st (4th ch of starting ch6 of Rnd 2,
pic 3). Turn the work right side facing you. Ch7 (counts as tr + ch3), *(2 tr in next tr – pic 4)x2,
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ch3* 7 times, 2 tr in next tr, tr in same st as starting ch7, join with a sl st to 4th ch of starting
ch7. (Total: 32 tr, 8 ch3-sps). Remove marker.

Picture 3 Picture 4

Rnd 5: Ch3 (count as dc), *(2 dc, ch3, 2 dc) in next ch3-sp, dc in next tr, ch1, sk 2 tr, dc in
next tr* 8 times omitting last dc, join with a sl st to 3rd ch of starting ch3. (Total: 48 dc, 8
ch3-sps, 8 ch1-sps).
Cut the yarn and secure ends.

MOTIF 2

Magic ring and pull up a loop,
Rnd 1: Ch1 (does not count as a st), 8 sc into the ring, join with a sl st to 1st sc. (Total: 8 sc).
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Rnd 2: Ch6 (counts as tr + ch2), (2 tr in next sc, ch2)x7, tr in next sc (that one where starting
ch6 made), join with a sl st to 4th ch of starting ch6. (Total: 16 tr, 8 ch2-sps).
Rnd 3: Ch9 (counts as tr + ch5), (tr in next 2 tr, ch5)x7, tr in next tr, join with a sl st to 4th ch
of starting ch9. (Total: 16 tr, 8 ch5-sps).
Rnd 4: Ch1 (does not count as a st), (sc around post of st marked as 1 in picture below
-arrows show the direction of crocheting, picot, sc around same st, picot, sc around post of st
marked as 2, picot, sc around same st, spike sc into the ring, sc around post of st marked as
3, picot, sc around same st, picot, sc around post of st marked as 4, picot, sc around same
st, picot)x8, drop the loop from the hook, insert hook from back to front into 1st sc and pull
through. (Total: 8 spike sc, 64 sc, 56 picot).

Rnd 5: Sl st in next ch5-sp, ch3 (count as dc), 2 dc in same ch5-sp, ch3, 3 dc in same ch5-sp,
ch1, *(3 dc, ch3, 3 dc) in next ch5-sp, ch1* 7 times, join with a sl st to 3rd ch of starting ch3.
(Total: 48 dc, 8 ch3-sps, 8 ch1-sps).
Cut the yarn and secure ends.
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MOTIF 3

Magic ring and pull up a loop,
Rnd 1: Ch1 (does not count as a st), 8 sc into the ring, join with a sl st to 1st sc. (Total: 8 sc).
Rnd 2: Ch3 (counts as dc), picot, dc in same sc as ch3, *(dc, picot, dc) in next sc* 7 times, join
with a sl st to 3rd ch of starting ch3. (Total: 16 dc, 8 picot).
Rnd 3: Ch6 (counts as dc + ch3), (dc in next dc, picot, dc in next dc, ch3)x7, dc in next dc,
picot, join with a sl st to 3rd ch of starting ch6. (Total: 16 dc, 8 picot, 8 ch3-sps).
Rnd 4: Sl st in next ch3-sp, ch3 (counts as dc), 3 dc in same ch3-sp, ch3, (4 dc in next ch3-sp,
ch3)x7, join with a sl st to 3rd ch of starting ch3. (Total: 32 dc, 8 ch3-sps).
Rnd 5: Ch4 (count as dc + ch1), sk 2 dc, *dc in next dc, (2 dc, ch3, 2 dc) in next ch3-sp, dc in
next dc, ch1, sk 2 dc* 7 times, dc in next dc, (2 dc, ch3, 2 dc) in next ch3-sp, join with a sl st
to 3rd ch of starting ch4. (Total: 48 dc, 8 ch3-sps, 8 ch1-sps).
Cut the yarn and secure ends.
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FLOWER MOTIF

Magic ring and pull up a loop,
Rnd 1: Ch1 (does not count as a st), 8 sc into the ring, join with a sl st to 1st sc. (Total: 8 sc).
Rnd 2: Ch1 (does not count as a st), (spike sc into the ring, ch1)x8, join with a sl st to 1st sc.
(Total: 8 spike sc, 8 ch1-sps).
Rnd 3: Sl st in next ch1-sp, ch7 (counts as tr + ch3), tr in same sp as ch7, *(tr, ch3, tr) in next
ch1-sp* 7 times, join with a sl st to 4th ch of starting ch7. (Total: 16 tr, 8 ch3-sps).
Rnd 4: Ch8 (counts as dc + ch5), (dc in next 2 tr, ch5)x7, dc in next tr, join with a sl st to 3rd ch
of starting ch8. (Total: 16 dc, 8 ch5-sps).
Rnd 5: Sl st in next ch5-sp, ch3 (count as dc), 2 dc in same ch5-sp, ch3, 3 dc in same ch5-sp,
ch1, *(3 dc, ch3, 3 dc) in next ch5-sp, ch1* 7 times, join with a sl st to 3rd ch of starting ch3.
(Total: 48 dc, 8 ch3-sps, 8 ch1-sps). Fasten off.

With new yarn, finish Flower with Rnd 6: Join the yarn in spike sc of Rnd 2 and pull up a loop,
ch1 (does not count as a st), *2 sc and 2 hdc around post of st (of Rnd 3) marked as 1 in
picture below, (2 dc, picot, 2 dc) in next ch3-sp, 2 hdc and 2 sc around post of st (of Rnd 3)
marked as 2, sl st in next spike sc of Rnd 2* 8 times. Cut the yarn and secure ends.
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JOINING
Large Motifs are joined to each other at two points each. 3 Large Motifs in the corners of the
shawl are attached to 1 Large Motif each (right, left or top). Motifs placed along the top line
of the shawl - up to 3 Large Motifs each. 12 Large Motifs on the sides (6 right and 6 left) are
attached to 2 Large Motifs - top and left/right respectively. All the Large Motifs inside the
shawl are attached to the 4 Large Motifs (above, below, right and left).
In order to connect motifs to each other, it is necessary to place the motif in the appropriate
place of the diagram and join it with others in the counterclockwise direction, joining one
peak to another. To do this, at the point of joining, make *ch1, sc in the opposite ch3 of
another motif, ch1* instead of ch3 as many times as the number of joining points needed.
Let's consider this in more detail using the example of Motif 3 in col. 05:

When Motifs 1, 2, F are completed, make rounds 1-4 of Motif 3. The numbers on the
diagram indicate the sequence of attachment points of Motif 3 to the other three. The two
red dots on top of Motif 3 are two peaks (ch3-sps) that remain free at this stage of the work.
So, to join the motifs according to the indicated scheme, crochet Round 5 of Motif 3 as
follows: Ch4 (count as dc + ch1), sk 2 dc, dc in next dc, (2 dc, ch3, 2 dc) in next ch3-sp, dc in
next dc, ch1, sk 2 dc, *dc in next dc, 2 dc in next ch3-sp, {ch1, sc in opposite ch3-sp of Motif
1/2/F (means points 1-6), ch1} instead of ch3, 2 dc in same ch3-sp as previous 2 dc, dc in next
dc, ch1, sk 2 dc* 6 times, dc in next dc, (2 dc, ch3, 2 dc) in next ch3-sp, join with a sl st to 3rd

ch of starting ch4.
Use a similar way to join Large Motifs together.

Note: If you find it a bit difficult to do the final round when the Flower motif is already
joined to other motifs, try to work it completely and join the other motifs to it.

SMALL MOTIFS
When all Large Motifs are completed, let’s crochet Small Motifs. The Small Motifs placed on
the right and left edges of the shawl join as-you-go in Round 2 to the three Large Motifs in
the sequence shown in Picture 1. The Small Motifs placed inside the shawl join as-you-go in
Round 2 to the four Large Motifs as shown in Picture 2. Round 1 works the same for both
ways.
Magic ring and pull up a loop,
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Rnd 1: Ch1 (does not count as a st), 8 sc into the ring, join with a sl st to 1st sc. (Total: 8 sc).

Rnd 2 (join to THREE motifs – pic 1):
Ch1 (does not count as a st), spike sc into
the ring, picot, spike sc, ch5, (spike sc,
picot, spike sc, ch2, sc in ch1-sp of Large
Motif, ch2)x3, join with a sl st to 1st spike
sc. (Total: 8 spike sc, 3 sc, 4 picot, 1
ch5-sp, 6 ch2-sps).

Rnd 2 (join to FOUR motifs – pic 2): Ch1
(does not count as a st), (spike sc into the
ring, picot, spike sc, ch2, sc in ch1-sp of
Large Motif, ch2)x4, join with a sl st to 1st

spike sc. (Total: 8 spike sc, 4 sc, 4 picot, 8
ch2-sps).

BORDER
Start crocheting in ch3-sp (shown in a picture below with the arrow) of the motif in the
lowest point of the shawl (Large col. 31 motif 2). The first sc after slip knot at the beginning
of the round is standing stitch.
Rnd 1 (col. 113): Slip knot, 3 sc in marked ch3-sp, (sc in next 3 sts, sc in next ch1-sp, sc in
next 3 sts, 3 sc in next ch3-sp)x3 omitting last 2 sc, continue working along the short side of
the shawl: *ch4, sc in ch5-sp of Small Motif, ch4, sc in next ch3-sp, (sc in next 3 sts, sc in next
ch1-sp, sc in next 3 sts, 3 sc in next ch3-sp)x3 omitting last 2 sc* 6 times, continue working
along the corner Large Motif: ch4, sc in ch5-sp of Small Motif, ch4, sc in next ch3-sp, (sc in
next 3 sts, sc in next ch1-sp, sc in next 3 sts, 3 sc in next ch3-sp)x6 omitting last 3 sc,
continue working along the top side of the shawl: *ch1, (sc in next 3 sts, sc in next ch1-sp, sc
in next 3 sts, 3 sc in next ch3-sp)x3 omitting last 3 sc* 13 times, continue working along the
corner Large Motif: ch1, (sc in next 3 sts, sc in next ch1-sp, sc in next 3 sts, 3 sc in next
ch3-sp)x6 omitting last 2 sc, continue working along the short side of the shawl: *ch4, sc in
ch5-sp of Small Motif, ch4, sc in next ch3-sp, (sc in next 3 sts, sc in next ch1-sp, sc in next 3
sts, 3 sc in next ch3-sp)x3 omitting last 2 sc* 6 times, ch4, sc in ch5-sp of Small Motif, ch4, sc
in next ch3-sp, continue working along the motif you started: (sc in next 3 sts, sc in next
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ch1-sp, sc in next 3 sts, 3 sc in next ch3-sp)x2 omitting last 3 sc, join with a sl st to 1st sc.
(Total: 28 ch4-sps, 14 ch1-sps, 878 sc). Cut the yarn.

Rnd 2 (col. 31):Work in BLO (omitting ch1-sp). Slip knot, sc in 1st sc of previous round, sc in
next 22 sc, *hdc in next 4 sc, dc in next 4 sc, 3 dc in next 2 ch3-sp skipping sc between them,
dc in next 4 sc, hdc in next 4 sc, sc in next 13 sc* 7 times, sc in next 30 sc, *hdc in next 4 sc,
dc in next 2 sc, sk sc, dc in next ch1-sp, sk dc, dc in next 2 dc, hdc in next 4 sc, sc in next 13
sc* 14 times, sc in next 30 sc, *hdc in next 4 sc, dc in next 4 sc, 3 dc in next 2 ch3-sp skipping
sc between them, dc in next 4 sc, hdc in next 4 sc, sc in next 13 sc* 7 times omitting last 3 sc,
join with a sl st to 1st sc. (Total: 266 dc, 224 hdc, 444 sc). Cut the yarn.
Rnd 3 (col. 85):Work in BLO. Slip knot, sc in 1st sc of previous round, sc in next 2 sc, (hdc in
next 2 sts, dc in next 3 sts, hdc in next 2 sts, sc in next 3 sts)x2, *hdc in next 3 sts, dc in next
3 sts, (sk st, dc in next st)x2, sk 2 sts, (dc in next st, sk st)x2, dc in next 3 sts, hdc in next 3 sts,
sc in next 3 sts, hdc in next 2 sts, dc in next 3 sts, hdc in next 2 sts, sc in next 3 sts* 7 times,
(hdc in next 2 sts, dc in next 3 sts, hdc in next 2 sts, sc in next 3 sts)x3, *hdc in next 3 sts, (sk
st, dc in next st)x3, sk st, hdc in next st, hdc in next 2 sts, sc in next 3 sts, hdc in next 2 sts, dc
in next 3 sts, hdc in next 2 sts, sc in next 3 sts* 14 times, (hdc in next 2 sts, dc in next 3 sts,
hdc in next 2 sts, sc in next 3 sts)x3, *hdc in next 3 sts, dc in next 3 sts, (sk st, dc in next
st)x2, sk 2 sts, (dc in next st, sk st)x2, dc in next 3 sts, hdc in next 3 sts, sc in next 3 sts, hdc in
next 2 sts, dc in next 3 sts, hdc in next 2 sts, sc in next 3 sts* 7 times, hdc in next 2 sts, dc in
next 3 sts, hdc in next 2 sts, join with a sl st to 1st sc. (Total: 293 dc, 316 hdc, 195 sc). Cut the
yarn.

Rnd 4 (col. 88):Work in BLO. Slip knot, sc in 1st sc of previous round, (2 sc in next st, sc in
next 4 sts)x4, *2 sc in next st, sc in next 2 sts, hdc in next 2 sts, dc in next st, tr in next st,
ch4, sk 6 sts, tr in next st, dc in next st, hdc in next 2 sts, sc in next 2 sts, (2 sc in next st, sc in
next 4 sts)x2* 7 times, (2 sc in next st, sc in next 4 sts)x6, *2 sc in next st, sc in next 2 sts, hdc
in next 2 sts, dc in next st, sk st, dc in next st, hdc in next 2 sts, sc in next 2 sts, (2 sc in next
st, sc in next 4 sts)x2* 14 times, (2 sc in next st, sc in next 4 sts)x6, *2 sc in next st, sc in next
2 sts, hdc in next 2 sts, dc in next st, tr in next st, ch4, sk 6 sts, tr in next st, dc in next st, hdc
in next 2 sts, sc in next 2 sts, (2 sc in next st, sc in next 4 sts)x2* 7 times omitting last sc, join
with a sl st to 1st sc. (Total: 14 ch4-sps, 28 tr, 56 dc, 112 hdc, 600 sc).
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Do not cut the yarn and continue crocheting next 2 rounds in col. 88.

Rnd 5: In this round, work one st into each st. Ch1 (does not count as a st), sc in same st as
ch1, 24 sc, (3 hdc, 3 dc, 2 tr, 3 tr in ch4-sp, 2 tr, 3 dc, 3 hdc, 10 sc)x7, 36 sc, (3 hdc, 8 dc, 3 hdc,
10 sc)x14, 36 sc, (3 hdc, 3 dc, 2 tr, 3 tr in ch4-sp, 2 tr, 3 dc, 3 hdc, 10 sc)x7 omitting last sc,
join with a sl st to 1st sc. (Total: 98 tr, 196 dc, 168 hdc, 376 sc).

Rnd 6: Ch1 (does not count as a st), sc in same st as ch1, picot, sk st, (sc in next st, picot, sk
st)x418, join with a sl st to 1st sc. (Total: 419 sc, 419 picot).
Cut the yarn and secure ends. Handwash in cool water. No spin. Dry flat.

Enjoy!
Kate Kosenko (Veselunka)
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